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Sun Mar 25 06:18:02 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}

RMS (ADC-ped)

250

200 [+

150 [+
100 -

50 [

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=19 |

RMS (ADC-ped)

Py . O S N S —— S =
16 s e ELLLCEEPEE LR LR CEEEEREEEPEE R LET TP PP s e A
14

12 [

0.6 p—

i
120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=20 _}

RMS (ADC-ped)

220
200

180
160

140
120

100
80

60 P/

40
20

= e g
)

0

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

RMS (ADC-ped)

18
16
I
14 [
n
12 [
=

I
10 H
M

o i . . . i . . . i . . . i . . . i . . . i . . . i
120
APV channel




run_13085010 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13085010 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
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run_13085010 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
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run_13085010 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13085010 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
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run_13085010 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
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run_13085010 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13085010 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13085010 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
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run_13085010 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Mar 25 06:17:39 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13085010 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13085010 FGT _RMS 1,Timebin=2,Disc=5,asmb=5CD
Sun Mar 25 06:18:18 2012
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